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Uni¢t One

Part | Vocabulary

Section A
Directions: Each of the following sentences is provided with four choices. Choose the one
that best completes the sentence or that best explains the underlined part.

1. After I had finished eating, he to set off immediately.
A)suggested B)proposed C)requested D)advised
2.1t is a pleasure to do business with a/an person.
A)upright B) outright C)alright D)right
3. He turned his head away, feeling too ashamed to meet her .
A) glimpse B)watch C)gaze D)stare
4.0wing to the electricity strike, a lot of factory workers were left
A)spare B)idle C)standing by D)jobless
5.'The nurse bathes the patient with care.
A)lovely B)smooth C)tender D)slender
6.Mr. Smith enjoyed rich eamings from his wise in the stock market.
A)decisions B) investments C)steps D)input
7. Mosquitoes are the only means of of Malaria, the deadly disease in the tropical
areas.
A)broadcasting B)spreading C) transmission D)infection
8.It was a long and bitter struggle, but the victory was worth the .
A)sacrifice B)cost C)loss D) expenditure
9. Some neighbors’ of rich, powerful people is just disgusting.
A)love B)pursuit C)worship D) enthusiasm
10. According to the latest system of , this creature is a mammal.
A) criterion B)category C) classification D) knowledge
11.The noise of the explosion penetrated the thickest walis.
A)passed through  B)passed by C)passed onto D)passed over
12.He never seemed at ease in my presence.
A)reality B)existence C) appearance D) company

13.The newbom pup grew a coat of sheer brown hair.
A)very B)total C) complete D)whole
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14. Jerry made a terrible nuisance of himself by talking loud in class.

A) annoyance B) favor C)fuss D)boredom
15. A breeze blew over the garden, and was lost in the bush.
A)gust B) hurricane C) typhoon D) gentle wind

16. As an outstanding scientist, he found it pretty difficult to interpret the black hole theory
to the public laymen.
A)develop B)explain C)discuss D)appraise

17. The Haier Company, China’s largest electric household appliance manufacturer guarantees
its products for three years.
A) warrants B) safeguards C) promises D) ensures

18.Since that was the young man’s first offense, the jury was going to give him a light
sentence of one-month social work in his neighborhood.

A)misdeed B)crime C)misbehavior D) misconduct

19.In the last part of the race, the marathon runner was not able to sustain his pace.
A)retain B)preserve C)Kkeep D)reserve

20. Throughout his life Cavour remained faithful to his fundamental political, economic and
cultural principles.
A)true B) humble C)sincere D)loyal

Section B

Directions : Fill in the blanks with the words or expressions given below. Change the form

i wit concessions maximum yield succession  virtue :
object hollow bonds procession  temptation observation :

1. They are not the kind of people to to threats.

2.The sight of the purse on the table was a strong to the poor child.

3. She showed a great deal of in handling the delicate situation.

4. Mother that the weather was too wet to play outdoors.

5.The endless of parties wore us out.

6. Over the years we have learnt that we cannot believe the promises of insincere
politicians.

7.He says that his plan had the ___ of being the easiest to implement.

8. The latest Formula One race car makesa _____ speed of 369 miles an hour.

9.Oftentimes, in order to reach an agreement you have to make _______ SO that your

counterpart will do it too.
10. The two countries are linked by of economic, political and military interests.

Part I Structure

Directions: Each of the following sentences is provided with four choices . Choose the one
that best completes the senlence .
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1.The ship’s generator broke down, and the pumps had to be operated instead
of mechanically.
A)manually B) artificially C) automatically D) synthetically
2.The boy spent as much time watching TV as he studying .
A)does B)had C)was D)did
3. The author of the report is well with the problems in the hospital because he
has been working there for many years.
A)informed B) acquainted C) enlightened D) acknowledged
4. All flights because of the terrible weather, they had to go there by train.
A)having been canceled B)had been canceled
C)having canceled D)were canceled
5.Tryon was extremely angry, but cool-headed enough to storming into the
boss’ office.
A)prevent B)prohibit C)tum D) avoid
6.He to his customers and halved the price.
A)leaked B) drew C) quoted D)yielded
7.The mother did not know who for the broken glass.
A)blamed B)to blame €)be blamed D)would blame
8. None of us expected the chairman to at the party. We thought he was still in
hospital.
A)tumn in B)turn over C)turn up D)turn down
9. The football game comes to you from New York.
A)lively B)alive C)live D)living
10. Contrast may make something appear more beautiful that it is when alone.
A)seen B)is seen C)to be seen D) having been seen
11.The statistical figures in that report arenot _____ . You should not refer to them.
A)accurate B)fixed C) delicate D)rigid
12. Things might have been much worse if the mother ____ on her right to keep the
baby .
A)has been insisting B)had insisted C)would insist D)insisted
13.My brother’s plansarevery ____ 3 he wants to master English, French and Span-
ish before he is sixteen.
A)arbitrary . B) aggressive C) ambitious D) abundant
14.Reading ____ the lines, I would say that the Government are more worried than
they will admit.
A)behind B) between C)along D)among
15. Mobile telecommunications’ _______is expected to double in Shanghai this year as a
result of a contract signed between the two companies.
A) capacity B) potential C) possession D)impact
16.The ______ stuck on the envelop says “By Air”.

A)diagram B)label C)signal D)mark
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17.The twentieth century has witnessed an enormous worldwide political, economic and

cultural .

A) tradition B) transportation C) transmission D) transformation

18.He wasn’t appointed chairman of the committee, not very popular with all
its members. :
A)to be considered B)considering C)being considered D)having considered
19. energy under the earth must be released in one form or another, for exam-
ple, an earthquake.
A)Accumulated B) Gathered C) Assembled D) Collected
20. There is no to the house from the main road.
A)access B)avenue C) exposure D)edge

Part [ Reading Comprehension

Directions : There are four passages in this part. Each passage is followed by some ques-
tions. For each question there are four suggested answers marked A, B, C,
and D. You should choose the ONE best answer .

Passage 1

Anna arrived far too early. Usually she left things to the last minute, but today was a
very special occasion. It was almost as if by getting there an hour beforehand she hoped to
cause the plane to arrive sooner. Thoughts raced through her mind. “Do I look all right?
Will he notice that I’ m wearing a new trouser suit? Will he even recognize me?” After all,
it was a year almost to the day since she had last seen Joe. She fished a mirror out of her
handbag and inspected her face. Too much make-up? Joe had never made any cormment
but she knew that he did not approve of heavy make-up—"“gilding the lily”, he called it.

It was funny how much importance she attached to making a good impression on him.
After all, friends do not judge each other by appearance. All the same, it was the first
meeting after a long separation, and she wanted everything to go off right.

Looking out of the window, Joe caught a first glimpse, through a break in the clouds,
of the town far below. This was his third visit, and looked like becoming an annual event.
Certainly it was very flattering that they had invited him to be the guest lecturer at their
Auturn Congress yet again. The Chairman of the Organizing Committee, as a matter of
courtesy, had offered to meet him at the airport, as he had done on previous occasions.
This time, however, it was not necessary, partly because Joe was quite familiar with the
city, but mainly because Anna had said that she could take the afternoon off in order to
come and meet him.

1.Anna looked in her mirror because .
A)she wanted to check that her make-up was alright
B)in case she had too much make-up on
C)she knew that Joe disapproved of heavy make-up
D)she wanted to make a good impression on Joe
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2. Anna thought that Joe might not recognize her because

A)she was wearing a new suit.

B)he had not seen her for about a year.

C)He might expect someone else to meet him.

D)She had changed a lot in the past year.
3.When did Anna get to the airport?

A)About an hour earlier. B)Just before the plane was due to land.
C) At the last possible minute. D) Shortly after the plane had arrived.
4. How many times had Joe been to this town?
A)Several times before. B) Three times before.
C)Twice before. D)Four times before.

5.Joe did not want the Chairman to meet him because .
A)the Chairman was not willing to meet him
B)he was not sure which day he would travel
C)he could not find his own way to the city center
D)he thought that Anna would be there to meet him
Passage 2

One of the qualities that most people admire in others is the willingness to admit
one’ s mistakes. It is extremely hard sometimes to say a simple thing like “I was wrong
about that,” and it is even harder to say, “I was wrong, and you were right about that.”

I had an experience recently with someone admitting to me that he had made a mis-
take fifteen years ago. He told me he had been the manager of a certain grocery store in
the neighborhood where I grew up, and he asked me if I remembered the egg cartons.
Then he related an incident and I began to remember vaguely the incident he was describ-
ing.

1 was about eight years old at the time, and I had gone into the store with my mother
to do the weekly grocery shopping. On that particular day, I must have found my way to
the dairy food department where the incident took place.

There must have been a special sale on eggs that day because there was an impressive
display of eggs in dozen and half-dozen cartons. The cartons were stacked three or four
feet high. I must have stopped in front of a display to admire the stacks. Just then a wom-
an came by pushing her grocery cart and knocked off the stacks of cartons. For some rea-
son, I decided it was up to me to put the display back together, so I went to work.

The manager heard the noise and came rushing over to see what had happened. When
he appeared, I was on my knees inspecting some of the cartons to see if any of the eggs
were broken, but to him it looked as though I was the culprit. He severely reprimanded
me and wanted me to pay for any broken egg. I protested my innocence and tried to ex-
plain, but it did no good. Even though I quickly forgot all about the incident, apparently
the manager did not.

6. How old was the author when he wrote this article?
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A)About 8. C)About 15. B) About 23. D)About 25.
7. Who should be to blame for knocking off the stacks of cartons of eggs?

A)The manager. B) The writer.

C)A woman. D) The writer’ s mother.

8. Which of the following statements is NOT true?
A)It was the author who put the display back together.
B)A woman carelessly knocked off the stacks of cartons.
C)The writer was severely reprimanded by the manager.
D) The woman who knocked off the stacks of cartons was severely reprimanded by the
manager.
9. What is the best title for the passage?
A)An Incident That I Remember. B)I Used to Be the Culprit.
C)It’s Hard to Admit One’s Mistakes. D)A Case of Mistaken Identity.
10. The tone of the article expresses the author’s
A)admiration for the manager’s willingness to admit the m]stakw he made
B)regret for the mistake he made in the grocery store
C)indignation against the woman who knocked off the stacks of cartons of eggs
D)anger to the manager for his wrong charge
Passage 3

Economic liberalism was the prevailing economic philosophy in much of the nine-
teenth and early twentieth centuries, and the US economy developed within its frame-
work . Economic liberalism promoted freedom of action for the individual and the firm
through the doctrines of free trade, self-interest, private property, laissez-faire, and com-
petition.

According to this philosophy, individuals were free to seek their own occupations, to
enter any business, and to act as they saw fit to improve their economic welfare. Econom-
ic society was held together by self-interest. Self-interest was thus the motivating force of
the economy. For example, to increase personal economic welfare, an individual might
decide to produce goods and sell them for profit. But in so doing, that individual automat-
ically benefited the community as well by purchasing raw materials, providing employ-
ment, and supplying goods or services. A worker seeking to increase his or her wages
could do so by increasing productivity. This, too, benefited the employer and the commu-
nity in general. According to Adam Smith, the individual, in seeking personal gain, was
led by an invisible hand to promote the welfare of the whole community. Under economic
liberalism, individual were free to engage in the trade, occupation, or business they de-
sired. Workers were free to move from one job to another and to enter or exit from an in-
dustry.

Competition was the regulator of the economy under economic liberalism. Business
competed with one another for consumer trade by developing new and better products and
by selling existing products at lower prices. Free entry into the market ensured adequate
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competition, and prices were determined by the free forces of supply and demand. Com-
petitive forces determined not only the prices of goods and services but also wage rates.

Since a beneficial self-interest was the motivating and driving force of the economy
and since competition was to serve as the regulator of the economy, a policy of laissez-
faire prevailed. According to this policy, the government should keep its hand off the eco-
nomic activities of individuals and businesses. Its economic role was strictly to protect pri-
vate property, to enforce contracts, and to act as a judge in economic disputes.

11. Concerning economic liberalism, which of the following is true?

A)It was a theory in the field of philosophy in the 19th and 20th centuries.
B)The development of the US as a nation owes much to this philosophy.
C)1t is about the freedom of action in the field of economics.

D)1t is about the doctrines of private sectors of economy.

12. According to the passage, people exchange goods and services mainly to .
A)meet their own needs B)meet the needs of other people
C)form an economic society D)bring benefits to society

13. Which of the following is the best interpretation of Adam Smith’s theory?
A)Individuals only care about their own interest.

B)In their sub-consciousness, people wish to serve the cormunity.

C)Individual’ s economic behavior is regulated by an invisible being.

D) In pursuing their self-interest, individuals bring benefits to society.
14. Which of the following functions competitive forces have is NOT true?

A)To force manufacturers to provide new and better products.

B)To give every individual a fair chance for a better job.

C)To help determine the prices of goods and services.

D)To help regulate the wages of people who are employed.

15. According to the policy of laissez-fair, governments should .
A)control the market as much as possible B)strictly regulate the market
C)give the market much freedom D)intervene in the market when they like

Passage 4

As we know, it is very important that a firm should pay attention to the training of its
staff as there exist many weak parts in its various departments. Staff training must have a
purpose, which is defined when a firm considers its training needs, which are in tum
based on job descriptions and job specifications.

A job description should give details of the performance that is requmed for a particu-
lar job, and a job specification should give information about the behavior, knowledge and
skills that are expected of an employee who works in it. When all of this has been collect-
ed, it is possible to make a training specification. This specifies what the Training Depart-
ment must teach for the successful performance of the job, and also the best methods to
use in the training period.

There are many different training methods, and there are advantages and disadvan-
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tages of all of them. Successful training programmes depend on an understanding of the
difference between leaming about skills and training in using them. It is frequently said
that learning about skills takes place “off the job” in the classroom, but training in using
these skills takes place “on the job”, by means of such activities as practice in the work-
shop.

It is always difficult to evaluate the costs and savings of a training programme. The
success of such a programme depends not only on the methods used but also on the quality
of the staff who do the training. A company can often check on savings in time and cost by
examining the work performed by the workers and technicians who have completed a
training programme. The evaluation of management training is much more complex than
that.

16.To be successful in our training programmes, one must understand the difference be-
tween .
A)the savings in time and cost
B)learning about the skills and training in using them
C)what is taught and how it is taught
D)a job description and a job specification
17.The success of a training programme depends on .
A)the place where the training takes place
B)the proper evaluation of the costs and savings of the programme
C)the performance of the workers and technicians trained in the programme
D)the training methods and the quality of the training staff
18. A training specification aftaches great importance to .
A)the performance required for a certain job
B)the behavior, knowledge and skills expected of an employee
C)the training contents and methods
D)the costs and savings of the programme
19. According to the passage, which of the following statements is NOT true?
A)As there exist weak parts in different departments of a firm, the training of its staff
is highly necessary.
B)A training specification is based on the information collected from a job description
and a job specification.
C)Learning about skills and training in using skills usually don’t take place at the same

place.
D)1t is easier to evaluate management training than to evaluate the training of workers
and technicians.
20.The best title for the passage might be .
A)The Importance of Staff Training B) Staff Training Programme

C)How to Describe and Specify a Job D)A Successful Training Programme
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Part V Cloze

Directions: There are 20 blanks in each of the following two passages. For each blank
there are four choices marked A, B, C, and D. You should choose the ONE
that best fits into the passage.

Section A

Social factors play a very important role in health. Social conditions and situations not
only promote the possibility of illness and disability, 1 also help in disease 2 and
health maintenance. The greatest threats _ 3 an individual’ s health and physical well-
being today 4 largely from unhealthy lifestyles and high-risk behavior, and this is true
5  heart disease, cancer, AIDS and a host of modernday health problems.

Social factors are important 6  influencing the manner in which societies organize
their resources to cope _ 7  health risks and deliver medical 8  to the population at
large. Individuals and societies tend to respond _ 9 health problems in a manner consis-
tent 10 their culture, norms, and values. As Donald Light explains, “medical care
and health services are acts of political philosophy”; thus, social and political _ 11 _ in-

fluence the choices made, institutions formed, and the levels of funding provided _ 12

health. Health is therefore not 13 a matter of biology, but involves a number of fac-
tors that are social, cultural, and economic.

The purpose of this book is to _ 14 _ the readers to the field of medical sociology.
Recognition of the significance of the complex relationship _ 15 social factors and the
level of health characteristic of various groups and societies has led to the development of
medical sociology 16 _ an important area within the general field of sociology. As an
academic discipline, medical sociology is _ 17  with the social causes and consequences
of health and illness. Medical sociologists 18  the social aspects of health and disease,
the social 19  of health organizations and institutions, the social behavior of health per-

sonnel and those 20 are consumers of health care, and patterns of health services.

1.A)as B)but Clwell D)so
2.A)infection B) cause C) prevention D)spread
3.A)to B)for C)through D) with
4.A)come B)deceive C)result D)reduce
5.A)to B)upon C)for D)by
6.A)on B)at C)in D)from
7.A)in B)at C) through D)with

8. A)well-being B) benefits C)examination D)care
9.A)with B)towards C)upon D)to
10.A)to B)with C)about D)from

11. A)philosophy B)disorder C)values D)tendency
12.A)for B)on C)with D)to

13. A)barely B)simply C)really D) completely
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14.. A) confront B)provid C)introduc D) disclos
15.A)among B)in C)for D)between
16.A)as B)for C)in D)to

17. A) concerned B)related C)worried D) dealt
18.A)focus B)discuss about C) concentrate D)study

19. A)positions B)status C) functions D) environment
20.A)who B)whom C)whose D) people
Section B

What do you know about the sea? We know that it looks very pretty when the sun is
1 onit. We also know that it can be very _ 2 when there is a strong wind. What
other things do we know about it?

The first thing to remember is that the sea is very big. When you look at the map of
the world you will find there is more water _ 3 land. Thesea 4  three quarters of the
world.

The sea is also very 5 in some places. It is not deep everywhere. Some parts of
the sea are very _ 6 . But in some places the depth of the sea is very great. There is one
7, near Japan, where the sea is nearly 11 kilometers deep! The highest _ 8 _in the
world is about nine kilometers high. If that mountain were put into the sea at that place,
there 9  be two kilometers of water above it! What a deep place!

If you have swum in the sea, you know that itis _ 10 . Youcan _ 11  the salt.
Rivers, which flow into the sea, carry salt from the land into the sea. Some parts of the
sea are more salty 12 other parts. There is one sea, _ 13  the Dead Sea, which is
very salty. It is so salty that swimmers cannot sink! Fish cannot live in the Dead Sea!

In most parts of the sea, there are plenty of fishes and plants. Some live near the top
of the sea. Others live deep 14 . There are also millions of __15  living things that

float in the sea. These floating things are so small that itis __ 16 to see them, Many fish

live by eating these.

The sea can be very 17 . Divers, who go deep down in the sea, know this. On
the top the water may be warm. _ 18 _ the diver goes downwards, the sea becomes cold-
er and colder. Another thing happens. When the diver goes deeper, the water above
presses down on him. It _ 19 him. Then the diver has to wear clothes made of metal.
But he cannot go very deep. Some people who wanted to go very deep used a very strong
diving ship! They went down to the deepest part of the sea in it. They went down __20

a depth of eleven kilometers!

1.A)pouring B)shining C)falling D)setting
2.A)rough B)tough C)mild D)wild
3.A)as B)than C)in D)off
4.A)includes B) contains C)occupies D) covers
5.A)deep B)wide C)shallow D)tiny
6.A)deep B)wide C)shallow D) tiny
7.A)position B)place C) status D)spot
8.A)place B) altitude C) mountain D)longitude
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9.A)will B)would C) should D) could
10.A)fresh B)salty C) stale D) mellow
11.A)smell B) swallow C)taste D)dip
12.A)in B)than C)to D)then
13.A)called B)that is C)which D) naming
14.A)top B) above C)up D) down
15. A) colossal B) medium-sized C) tiny D) giant
16.A)easy B)hard C) obvious D) transparent
17.A)cold B) cool C)hot D) warm
18.A)If B) Where C)However D) When
19.A)swells B) shrinks C) squeezes D) attracts
20.A)at B)to C)near D) through
Part Y Translation

Section A

Directions: Translate the following passage into Chinese.

Most forest fires are caused by human carelessness, so it is mainly a problem of
enabling people to understand better the importance of the forests. At the same time, peo-
ple should be made aware of the responsibility to protect the forests. This is not an easy
job, and it requires the continuous efforts of the government.

Section B
Directions: Translate the following passage into English.

IR R, R IR AR R FEEYRBHNEEN, X
HBEZ, RITUHH AERITHXRERRERS BRI C 5 HESEYZAFE
BRER, B138H , B A G 1R85 e sh 4 e I — Rk T BB RATTA

Part VI Writing

Directions: For this part you are required to write a composition entitled “ Life in a Big
City”. You are given the first sentence of each paragraph and required to de-
velop its idea in complete paragraph in about 120 words.

Life in a Big City
Living in a big city has a number of advantages.

However, life in a big city is not always pleasant.

Now most urban citizens are willing to live in big cities, but they often want to take a
trip to the countryside for a while.




